IoHSsE

Butterfly Valves

HD Series

HD series 204
technical data 204
components 205

RTFE seat 205
Inconel seat 206
"FIRE SAVE" design 207
dimensions 208
compatible flages JIS 209
torque values 209
pressure / temperature 209
bolts and rods dimensions 210
installation instructions 211

Operators 212
Handlever and Gearboxes 212
Pneumatic actuators 213
declutchable gearboxes 213
Extension shaft 214
Hydraulic Actuator 214

Ver. 2413 subject to change 203



HD Series Butterfly Valves ) IOHSES

BVHD - Wafer BLHD - Lug
DN 40 - 600 » 177> - 24” DN 40 - 600 » 177> - 24”

Max working pressure:
BVHD/BLHD DN 40+600: 25 Bar —
Flange: PN 10-16-25 + A150 DNV

TYPE APPROVAL

Design:
EN 593~EN 736
EN 12516~EN 1092~EN12266
ISO 5211~DIN 3337~API 609~ASME B16.34
PED 2014/68/EU - Mod. H APPROVAL

Face to face: [ H [
DIN EN 558 Series 20~ISO 5752 Series 20

BS-5155 Series 4~MSS-SP67

NFE 29305-1 c €
API 609 cat.B pasi

API 609 cat.A (DN 350 excluded)

N2GDExhX

. X (see ATEX
Testi ng: acoompanyin%

instructions)
EN 12266-1 Rate A (supersedes DIN 3230)
ISO 5208 Rate A ~ API 598
FIRE TEST API 607 VI Ed. September
Class V - Met/Met

Tag: safety
g SIL:s

EN 19 ~ MSS SP-25

FUGITIVE
. EMISSIONS
All valves are supplied TA-Luft

with a metallic label 1SO 15848-1
in compliance
with PED directive.

ANSI/API 607 - 1SO 10497-5

BODY
material references standard coating DN
Carbon steel (wafer, lug) EN 1.0619 (ASTM A216-WCB) High-temp coating - grey color 40-600
Stainless steel (wafer, lug) EN 1.4408 (A351 CF8M) - 40-600
Austenitic Stainless steel EN 1.4547 (A351 CK3MCuN) - 40-600
SUPERDUPLEX EN 1.4469 (A890 Gr. 5A) - 40-600
DISC
material references DN
Stainless steel EN 1.4408 (A351 CF8M) 40-600
Austenitic Stainless steel EN 1.4547 (A351 CK3MCuN) 40-600
SUPERDUPLEX EN 1.4469 (A890 Gr. 5A) 40-600
ref. material working temp.
RT RTFE (PTFE reinforced) Min: -55°C - Max: +230°C
IN Inconel 625 Min: -55°C - Max: +450°C
FS RTFE + Inconel 625 Min: -55°C - Max: +230°C / +450°C

On request can be supplied other materials as: LCB, Hastelloy, Uranus, Alloy, Super Duplex, Special steels, Special bronzes.
Special coating on request.

204 subject to change



HD Series Butterfly Valves ) IOHSES

BVHD - Wafer * RTFE seat BLHD - Lug * RTFE seat
DN 40 - 600 « 17> - 24” DN 40 -600 17> - 24”
PN 10 - 16 - 25 « ANSI 150 PN 10 -16 - 25 « ANSI 150
- tem aty part  materal
item q.ty part material
/2? 1 1 body « EN 1.0619 (ASTM A216-WCB)
/_ a: Lug « EN 1.4408 (A351 CF8M)
19 b: Wafer « EN 1.4547 (A351 CK3MCuN) *
o < EN 1.4469 (A890 Gr. 5A) *
18

02 1  soft seat * RTFE (PTFE reinforced)

disc » EN 1.4408 (A351 CF8M)
» EN 1.4547 (A351 CK3MCuN)
» EN 1.4469 (A890 Gr. 5A)

%)

16 4 2 locking pins «A4 ~A316
15 5 1 upper spacer * EN 1.4401 (A316)
s 6 1 lower spacer « EN 1.4401 (A316)
13 14 7 1 upper shaft « EN 1.4542 (A564 A630)
/LZ 8 1 lowershaft < EN 1.4542 (A564 A630)
7 9 1 seatretaining - EN 1.4404 (A316L)
/— 11 flange
10 8 screw A4 ~A316
011 3 upper bush « stainless steel + PTFE
« steel + PTFE
/_1
5
ya 5 /_9
3
4 / s
/LO
6

u 1A Lug body J
8 18 Wafer body

20
21 12 1 retaining ring « AISI 301
— /_22 13 1 thrust block - EN 1.4401 (A316)
26 ) . .
/_ 014 1  shaft packing : g’?lglglt(in request)
/é 15 1 gland * EN 1.4401 (A316)
16 1 gland flange « EN 1.4401 (A316)
17 2 springs set « AISI 301
18 2 rods * A4 ~A316
19 2 nut * A2 ~A304
020 3 lower bush « stainless steel + PTFE
« steel + PTFE
621 1 O-ring * PTFE
22 1 lower plug « EN 1.4401 (A316)
23 2  screw A4 ~A316
24 1 upper flange « steel epoxy coated
25 4 screw A4 ~A316
¢ parts included in spare kit 2 1 spring . 14401 ~A316
* with special material body the components in contact (antistatic device)
with the fluid will also be in a suitable material

subject to change 205



HD Series

Butterfly Valves ) IOHSES

BVHD - Wafer ¢ Inconel seat
DN 40 - 600 » 17> - 24”
PN 10 - 16 - 25 « ANSI 150

16
=
K BK
11
5
o
.
2
6
SN

BLHD - Lug ° Inconel seat
DN 40 - 600 * 17> - 24”
PN 10 - 16 - 25 « ANSI 150
24 item q.ty part material
/25_ 1 1 body +EN 1.0619 (ASTM A216-WCB)
/_ A: Lug « EN 1.4408 (A351 CF8M)
B: Wafer * EN 1.4547 (A351 CK3MCuN) *
19 « EN 1.4469 (A890 Gr. 5A) *
/_ 02 1 metallic seat * Inconel 625 + graphite
18 3 1 disc « EN 1.4408 (A351 CF8M)
_ « EN 1.4547 (A351 CK3MCuN)
/ﬂ « EN 1.4469 (A890 Gr. 5A)
4 2 locking pins * A4 ~A316
15 5 1 upper spacer * EN 1.4401 (A316)
/; 6 1 lowerspacer  +EN 1.4401 (A316)
/_ 7 1 upper shaft + EN 1.4542 (A564 A630)
12 8 1 lowershaft - EN 1.4542 (A564 A630)
/_ 9 1 seat retaining * EN 1.4404 (A316L)
flange
10 8 screw * A4 ~A316
011 3 upper bush « stainless steel + PTFE
« steel + PTFE
/_1
2 /_9
/ﬂ
‘*15 Wafer body 1aLug body J

item q.ty part material

20 12 1 retaining ring « AISI 301
21 13 1 thrust block * EN 1.4401 (A316)
/_ 014 1 shaft packing - graphite
M /2 * PTFE (on request)
15 1 gland « EN 1.4401 (A316)
23 16 1 gland flange « EN 1.4401 (A316)
/_ 17 2 springs set « AISI 301
18 2 rods * A4 ~A316
19 2 nut * A2 ~A304
¢20 3 lower bush « stainless steel + PTFE
« steel + PTFE
021 1 packing * graphite
22 1 lower plug * EN 1.4401 (A316)
23 2 screw * A4 ~A316
24 1 upper flange * steel epoxy coated
25 4 screw * A4 ~A316
¢ parts included in spare kit 2% 1 spring . 14401 ~ A316
* with special material body the components in contact (antistatic device)
with the fluid will also be in a suitable material
206 Ver. 2413 subject to change



HD Series Butterfly Valves ) IOHSES

BVHD - Wafer ° "FIRE SAFE" design BLHD - Lug * "FIRE SAFE" design
DN 40 - 600 « 17 - 24” DN 40 - 600 « 1”72 - 24”
PN 10-16-25 - ANSI 150 PN 10-16-25 « ANSI 150
item q.ty part material
1 1 body «EN 1.0619 (ASTM A216-WCB)
A: Lug « EN 1.4408 (A351 CF8M)
B: Wafer * EN 1.4547 (A351 CK3MCuN) *
24 « EN 1.4469 (A890 Gr. 5A) *
25 02A 1 soft seat * RTFE (PTFE reinforced)
02B 1 metallic seat « Inconel 625 + graphite
19 3 1 disc « EN 1.4408 (A351 CF8M)
_— « EN 1.4547 (A351 CK3MCuN)
18 « EN 1.4469 (A890 Gr. 5A)
_ 4 2 locking pins <Ad~A316
17 5 1 upperspacer - EN 1.4401 (A316)
R e 6 1 lowerspacer  +EN 1.4401 (A316)
15 7 1 upper shaft « EN 1.4542 (A564 AG30)
/:‘ 8 1 lower shaft * EN 1.4542 (A564 A630)
13 9 1 seat retaining * EN 1.4404 (A316L)
K K /E flange
/_ 10 8 screw < A4 ~A316
11 ¢11 3 upper bush « stainless steel + PTFE
- steel + PTFE
12 1 retaining ring = AISI 301
/_1
5
4
“—
K
K /H
\\ﬁ
8 [ 1A Lug body 18 Wafer body
/_ -0 item q.ty part material
13 1 thrust block * EN 1.4401 (A316)
21 014 1 shaft packing * graphite
_ « PTFE (on request)
\26 22
/— 15 1 gland « EN 1.4401 (A316)
23 16 1 gland flange « EN 1.4401 (A316)
/_ 17 2 springs set < AISI 301
18 2 rods A4 ~A316
19 2 nut « A2 ~ A304
¢20 3 lower bush « stainless steel + PTFE
« steel + PTFE
021 1 packing « graphite
22 1 lower plug « EN 1.4401 (A316)
23 2 screw A4 ~A316
24 1 upper flange - steel epoxy coated
¢ parts included in spare kit 25 4 screw A4~ A316
* with special material body the components in contact 26 1 spring 1 .4?0t1 t'~ %316
with the fluid will also be in a suitable material (antistatic device)

Ver. 2413 subject to change 207



HD Series Butterfly Valves ) IOHSES

BVHD/BLHD dimensions

T -

A !
D, \ \
A i i DN 40-150
C
\1 ! [ o1 \
A \ \
| | D
_ 1 | | v
i i ch *o
| |
\ \
| | DN 200-600
| |
A
D
Ch \

. DN 40-150

Spacer FO7/F10
Material:

Painted carbon steel
Optional: Stainless Steel

ISO 5211

40 1372 113 76 50 34 39 85 100 70 14 11 FO5/F07
50 2 117 81 50 34 43 95 100 70 14 11 FO5/F07
65 2 120 93 50 34 46 105 100 70 14 11 FO5/F07
80 3 129 101 50 34 46 127 100 70 14 11 FO5/F07
100 4 160 128 50 34 52 150 100 70 18 14 FO5/F07
125 5 170 159 50 38 56 174 120 90 22 17 FO07/F10
150 6 179 168 50 38 56 210 120 90 22 17 FO7/F10
200 8 218 207 60 23 61 270 120 90 28 22 FO7/F10
250 10 257 232 80 23 69 325 160 130 30 22 F12/F14
300 12 300 270 80 28 78 378 160 130 35 27 F12/F14
350 14 328 304 100 28 92 432 200 140 40 27 F14
400 16 387 340 100 37 102 485 200 140 45 36 F16
500 20 451 427 100 47 127 580 200 165 60 46 F16
600 24 515 460 150 56 154 694 300 300 70 55 F25

40 M16 4 110 M16 4 110 M16 4 110 M14 4 98,4 4,0 4,0
50 M16 4 125 M16 4 125 M16 4 125 M16 4 120.7 3.5 5.7
65 M16 8 145 M16 8 145 M16 8 145 M16 4 139.7 4.0 7

80 M16 8 160 M16 8 160 M16 8 160 M16 4 152.4 4.8 7.6
100 M16 8 180 M16 8 180 M20 8 190 M16 8 190.5 8 9.7
125 M16 8 210 M16 8 210 M24 8 220 M20 8 215.9 10.1 14.8
150 M20 8 240 M20 8 240 M24 8 250 M20 8 241.3 13.5 17.6
200 M20 8 295 M20 12 295 M24 12 310 M20 8 298.5 22 32
250 M20 12 350 M24 12 355 M27 12 370 M22 12 362.0 35 46
300 M20 12 400 M24 12 410 M27 16 430 M22 12 431.8 50 62
350 M20 16 460 M24 16 470 M30 16 490 M24 12 476.3 83 110
400 M24 16 515 M27 16 525 M33 16 550 M27 16 539.8 107 140
500 M24 20 620 M30 20 650 M33 20 660 M27 20 635.0 200 250
600 M27 30 725 M33 20 770 M36 20 770 M33 20 749,3 280 350

NOTE ™ in case of ANSI150 flanges, threading can be ANSI B1.1 UNC2B

208 Ver. 2413 subject to change



HD Series Butterfly Valves ) IOHSES

| Compatible flanges JIS B2220 :2004

DN BVHD - wafer (Pmax = 25bar BLHD - lug (Pmax = 25bar

" sissk | s 10k | s 16k | 1520k | 31530k | 15K | 31510k | 315 16K | 315 20K | 315 30K
40 [ [} [ ) [ [ [ ) (] [} [ ) [ ]
50 X v’ [ ° [J X ° [J () X
65 [ v [} [ X [ [} [ [ X
80 [ J [ J [ J [ ] X [ ] [ J [ J [ J [ J
100 X ® v v v X ) ) ° °
125 ° ° v’ v v’ ° ° ° ° °
150 ) v X X X ) v X X X
200 X [ v v [ X ® [J () [
250 ) Ve X X X () ® X X X
300 X X X X X X X X X X
350 X X () ° () X X () () ()
400 X ° ) ° X X () [J ) X
500 please contact Technical Office
600 please contact Technical Officc ————————— ! v/ standard ~ @onrequest X not possible I—

Torque values - Nm | safety factor excluded

seat: RTFE - fluid: H,0 - 20°C seat: INCONEL - fl H,0 - 20°C

working pressure: BAR

40 21 27 36 42 40 32 40 52 61
50 24 30 40 47 50 36 44 58 68
65 34 38 48 60 65 51 56 70 86
80 38 45 54 68 80 57 67 78 97
100 45 56 62 81 100 68 83 89 114
125 85 90 105 120 125 124 133 154 168
150 130 145 170 210 150 186 212 248 302
200 155 251 326 423 200 261 350 392 570
250 330 450 520 580 250 480 668 765 848
300 580 640 740 850 300 848 941 1085 1244
350 780 1030 1190 1550 350 950 1250 1500 1850
400 850 1400 1750 2275 400 1750 2180 2470 2830
500 1925 2560 2980 3875 500 2740 3445 3910 4500
600 3550 4700 5600 6600 600 5000 6300 7450 8000
Pressure /| Temperature
30B [ |
20B [ "
i RTFE seat
108B
0 B 1 1 1 1
-40 °C 0°C 50 °C 100 °C 150 °C 200 °C 250 °C 300 °C 350 °C 400 °C
308 —— PN 25 body WCB - metallic seat
——— PN 25 body CF8M - metallic seat
—— ANSI 150 body WCB - metallic seat | |
—— ANSI 150 body CF8M - metallic seat
20B
10B [~ T 1
0B !
-40 °C 0°C 50 °C 100 °C 150 °C 200 °C 250 °C 300 °C 350 °C 400 °C 450 °C

Ver. 2413 subject to change 209



HD Series

Butterfly Valves

)

Bolts and rods dimensions

IoHSsSE

Wafer valves

DN [ pPN1O |
Bolts Rods N° Bolts Rods N°
40 M16x100 M16x120 4 M16x100 M16x120 4
50 M16x110 M16x130 4 M16x110 M16x130 4
65 M16x120 M16x130 8 M16x120 M16x130 8
80 M16x120 M16x130 8 M16x120 M16x130 8
100 M16x130 M16x140 8 M16x130 M16x140 8
125 M16x130 M16x150 8 M16x140 M16x150 8
150 M20x140 M20x150 8 M20x140 M20x150 8
200 M20x150 M20x160 8 M20x150 M20x160 12
250 M20x160 M20x180 12 M24x160 M24x180 12
300 M20x170 M20x180 12 M24x180 M24x200 12
350 M20x180 M20x200 12 M24x200 M24x220 16
400 M24x200 M24x220 16 M27x220 M27x240 16
M24x220 M24x240 16 M30x240 M30x280 16
500 * REAR: Bolts M24x60 4 * REAR: Bolts M30x70 4
* FRONT: Bolts M24x70 4 * FRONT: Bolts M30x80 4
M27x300 M27x330 16 M33x310 M33x340 16
600 * REAR: Bolts M27x70 4 * REAR: Bolts M33x80 4
* FRONT: Bolts M27x80 4 * FRONT: Bolts M33x90 4

Bolts Rods
M16x100 M16x120
M16x120 M16x130
M16x120 M16x140
M16x130 M16x140
M20x140 M20x150
M24x150 M24x170
M24x150 M24x170
M24x160 M24x180
M27x180 M27x200
M27x200 M27x220
M30x220 M30x240
M33x240 M33x260
M33x260 M33x300

* REAR: Bolts M33x80

* FRONT: Bolts M33x90
M36x320 M36x350
* REAR: Bolts M36x90
* FRONT: Bolts M36x100

Bolts Rods N°
M14x100 M14x120 4
M16x120 M16x130 4
M16x130 M16x140 4
M16x130 M16x140 4
M16x130 M16x150 8
M20x140 M20x160 8
M20x140 M20x160 8
M20x160 M20x170 8
M22x170 M22x200 12
M22x180 M22x200 12
M24x220 M24x220 12
M27x220 M27x240 16
M27x260 M27x280 16
* REAR: Bolts M27x80 4
* FRONT: Bolts M27x90 4
M33x320 M33x350 16
* REAR: Bolts M33x90 4

* FRONT: Bolts M33x100 4

* Valves DN500 and DN600 (both LUG and WAFER execution)
have 4 threaded blind holes each side, therefore screws marked with * are to be used.

~

-

N~
preferential ( ) ~

flow direction “~an /

-~

~

NOTE 1
Screw and rod dimensions have been calculated with:
+ spiralwound gasket ASME B16.20a (ex API 601)
« washer EN ISO 7089 (ex UNI 6592) - on both flanges
« welding neck flanges PN 10/16/25 (EN1092-1 Type 11)

» welding neck flanges ANSI150 (ANSI B16.5)

NOTE 2
Number of nuts should be double when WAFER valves are
assembled with threaded rods.

Lug valves

40 M16x35 4 M16x40 4 M16x35 4 M16x40 4 M16x40 4 M16x40
50 M16x45 4 M16x45 4 M16x45 4 M16x45 4 M16x45 4 M16x45
65  M16x40 8 M16x50 8 M16x40 8 M16x50 8 M16x45 8 M16x55
80  M16x45 8 M16x55 8 M16x45 8 M16x55 8 M16x50 8 M16x55
100 M16x50 8 M16x50 8 M16x50 8 M16x50 8 M20x55 8 M20x55
125 M16x55 8 M16x55 8 M16x55 8 M16x55 8 M24x55 8 M24x60
150 M20x55 8 M20x55 8 M20x55 8 M20x55 8 M24x60 8 M24x60
200 M20x55 8 M20x65 8 M20x55 8 M20x65 8 M24x60 12 M24x70
250 M20x60 12 M20x70 12 M24x60 12 = M24x70 12  M27x65 12 = M27x75
300 M20x65 12 M20x70 12 M24x70 12 M24x75 12 M27x75 16 M27x80
350 M20x70 12 M20x80 12 M24x70 16 M24x90 16 M30x80 16 M30x100
400 M24x75 16 M24x90 16 M27x80 16 M27x90 16 M33x90 16 | M33x100
M24x90 16 M24x90 16 M30x100 16 < M30x100 16 | M33x110 16 @ M33x110
500« poits 4 * bolts 4 * bolts 4 * bolts 4 * bolts 4 * bolts
M24x60 M24x70 M30x70 M30x80 M33x80 M33x90
M27x100 = 16 | M27x110 16 | M33x110 16 | M33x120 16  M36x120 16  M36x130
600 * bolts 4 * bolts 4 * bolts 4 * bolts 4 * bolts 4 * bolts
M27x70 M27x80 M33x80 M33x90 M36x90 M36x100

M14x35 4 M14x40 4
M16x45 4 M16x45 4
M16x45 4 M16x55 4
M16x45 4 M16x55 4
M16x55 8 M16x55 8
M20x55 8 M20x55 8
M20x55 8 M20x60 8
M20x60 8 M20x65 8
M22x65 & 12 = M22x70 12
M22x70 | 12 | M22x80 12
M24x80 12 M24x90 12
M27x80 16 | M27x100 16
M27x110 16 M27x110 16
* bolts 4 * bolts 4
M27x80 M27x90
M33x120 16 K M33x130 16
* bolts 4 * bolts 4
M33x90 M33x100

* Valves DN500 and DN600 (both LUG and WAFER execution) have 4 threaded blind holes each side, therefore screws marked with * are to be used.

Ver. 2413

210

subject to change



HD Series

Butterfly Valves

D (== ==

| Installation

Valve/pipe assembly

Leave a space between flanges to allow easy
installation of the valve (see fig. 1). Insert
two gaskets between flange and valve (not
supplied).

HD butterfly valves are bi-directional and can
be installed with the flow in both directions.
There is however a preferential direction (see
fig.2), which minimize turbulences when fluid is
under pressure.

HD Butterfly valves can be installed with
the shaft axis in any direction. It is however
preferable to keep it vertical .

Center valve body between flanges, then
tighthen the bolts.

ATTENTION: Non correct centering of the valve
may damage valve disc.

After start-up make sure that there are no
leakings and that the valve is properly operating

Remarks:

Always remove the valve before any flange
welding to avoid possible damages due to
heat

On top of upper shaft there is a notch parallel
to disc indicating its position. (for valves
DN>200 refer to the key).

When actuator or gear box are assembled
on the valve, please consider that there is a
mechanical stop allowing only anti-clockwise
rotation.

Valve is closed when disc is against the stop.

Valve/pipe disassembly

1.

Ver. 2413

Make sure that there is no 2. Make sure that valve disc is 3.

fluid under pressure upstream closed.
or downstream the valve.

Disconnect any electronic as

well as pneumatic device.

subject to change

Seat to be inserted
between the flange

N

Preferential
flow direction

Loose bolts and widen piping
flanges. While keeping the valve,
remove bolts and disassemble
the valve.

211



) IOHSE

Actuators Butterfly Valves

| Handlever

G

| | coweonmwrs
F I

| 1

I /

|

|

1

I 3. .

‘ N -«

| \

| J\r « 4

| / /

| / 2

| ,

iR -

|

|

aluminium St.steel
Weight (Kg) Weight (Kg)
wafer lug wafer lug DN 40-150 DN 40-100
1¥2 113 50 1 lever aluminium A351 CF8M
50 2 117 50 2 | trigger aluminium A351 CF8M
1/2

65 2Y2 120 50 3 spring stainless steel stainless steel
e > 29| 50 4 | disc aluminium A351 CF8M
100 4 160 50 positioning
125 5 170 50 56 76 340 125 11.1 15.8 - - . .
BB ¢ 1175/ 50 (56 | 76 (390|125 145 156 : ~ 5 screws stainless steel stainless steel

40 12 113 50 64 170 200 44 GH 10 6.3 6.3
50 2 117 50 64 170 200 44 GH 10 58 8
65 2v2 120 50 64 170 200 44 GH 10 6.3 9.3
80 3 129 50 64 170 200 44 GH 10 7.1 9.9
100 4 160 50 64 170 200 44 GH 10 103 12
125 5 170 50 66 179 200 52 GH 20 13.7  18.4
150 6 179 50 66 179 200 52 GH 20 17.1 212
200 8 218 60 73 214 300 62 GH 21 27 37
body: ductile iron GGG40 250 10 257 80 89 265 350 79 GH 30 47 58
worm gears: steel 300 12 300 80 99 300 400 89 GH 55 62 74
sector gear:  ductile iron 350 14 328 100 92 275 500 101  GH 66 97 124
shaft: steel low/high 400 16 387 100 115 350 500 112  GH 88 127 160
handwheel: steel temperature
protection: IP67 execution 500 20 451 100 126 430 600 129 GH195BR3.5 235 285
T. -20 / +80 °C on request 600 24 515 150 153 430 600 157 GH300BR6 | 340 410
212 Ver. 2413 subject to change

RTFE seated valve / fluid: H20 / T: 20°C

40 1¥2 113 50 64 170 200 44 GH 10 6.3 6.3
50 2 117 50 64 170 200 44 GH 10 5.8 8

65 2Y2 120 50 64 170 200 44 GH 10 6.3 9.3
80 3 129 50 64 170 200 44 GH 10 7.1 9.9
100 4 160 50 64 170 200 44 GH 10 10.3 12
125 5 170 50 66 179 200 52 GH 20 13.7  18.4
150 6 179 50 66 179 200 52 GH 20 17.1 21.2
200 8 218 60 73 214 300 62 GH 21 27 37
250 10 257 80 89 265 350 79 GH 30 47 58
300 12 300 80 99 300 400 89 GH 55 62 74
350 14 328 100 92 275 500 101 GH 66 97 124
400 16 387 100 115 350 500 112 GH 88 127 | 160
500 20 451 100 126 430 600 129 GH195BR3.5 235 285
600 24 515 150 153 430 600 157 GH300BR5 = 330 | 400
INCONEL seated valve / : H20 / T: 20°C




Actuators

Butterfly Valves

| Pneumatic actuator

Rack & Pinion Actuators

Max air pressure: 8 bar
5,5 bar (AT series)

Fluid: H20 - T: 20° C - Air pressure: 5,5 Bar - Seat: RTFE

PN 20 / PN 25

P 0, 0

Temperature: _ggogf 8 (AT series) 40 113 VAG63 VA 85 SR VA 75 VA 100 SR 65 VA115SR 65
Torque range: 8/5059 Nm 50 117 VA63 70 VAS5SR 65 VA75 65 VAI100SR 65 65 VA115SR 65
13,2/9173 Nm a 5,5 Bar (AT series) | | 65 120 VA75 65 VAL00SR 65 VA75 65 VA100SR 65 65 VA115SR 65
Double travel stop open/close: & 5° 80 129 VA75 65 VAIOOSR 65 VA75 65 VA115SR 65 65 VA115SR 65
-5°/+15 close (AT series) 100 160 VA 85 65 VA115SR 65 VA85 65 VA115SR 65 65 VA125SR 65
+5°/-15 open (AT series) 125 170 VA100 65 VA125SR 65 VA100 65 VA125SR 65 65 VA140SR 65
150 179 VA115 65 VA140SR 65 VA115 65 VA160SR 65 65 VA160SR 65
200 218 VA115 60 VAI60SR 60 VAI25 60 VA180SR 60 60 VA200SR 60
250 257 VA140 80 VA200SR 80 VA160 80 VA230SR 80 80 VA230SR 80
300 300 VA180 80 VA230SR 80 VA180 80 VA270SR 80 80 VA270SR 80
350 328 VA200 100 VA270 SR 100 VA230 100 VA 330SR 100 100 VA330SR 100

400 387 VA200 100 VA270 SR 100 VA230 100 VA 330SR 100 100 on request

500 451 VA270 100 AT1001 SR 100 VA330 100 AT1001SR 100 VA 330 100  on request

600 515 AT 801 150 onrequest AT1001 150 on request AT1001 150 on request

Fluid: H20 - T: 20° C - Air pressure: 5,5 Bar - Seat: INCONEL
PN 20 / PN 25

40 113 VA75 65 VA100SR 65 VA75 65 VA115SR 65 VA85 65 VA115SR 65
50 117 VA75 65 VA100SR 65 VA75 65 VA115S5R 65 VA85 65 VA11l5SR 65
65 120 VA 75 65 VA115SR 65 VA85 65 VA115SR 65 VA 100 65 VA 125SR 65
80 129 VA85 65 VA115SR 65 VA85 65 VA1255R 65 VA 100 65 VA 140 SR 65
100 160 VA 85 65 VA115SR 65 VA 100 65 VA 125SR 65 VA 100 65 VA 140 SR 65
125 170 VA115 65 VA 140 SR 65 VA 115 65 VA 160SR 65 VA 115 65 VA 160 SR 65
150 179 VA115 65 VA 160 SR 65 VA 125 65 VA 180SR 65 VA 140 65 VA 200 SR 65
200 218 VA125 60 VA 180SR 60 VA 140 60 VA 200SR 60 VA 180 60 VA 230SR 60
250 257 VA160 80 VA 230SR 80 VA 180 80 VA 270SR 180 VA 200 80 VA270SR 80
300 300 VA 200 80 VA 270 SR 180 VA 200 80 VA 330SR 180 VA 230 80 VA 330SR 80
350 328 VA 200 100 VA 330 SR 100 VA 230 100 VA 330SR 100 VA 270 100 AT1001 SR 200
400 387 VA 270 100 AT 801 SR 100 VA 270 100 AT1001 SR 100 VA 300 100 AT1001 SR 100
G quote can change depgnding 500 451 VA 330 100 AT1001 SR 100 VA 330 100 on request AT1001 100  on request
on valve/actuator coupling. 600 515 AT1001 150  on request AT1001 150  on request on request on request
I Declutchable manual gearboxes
ILGD Series
o St MonGOGH0 e e protection: 1765
sector gear: ductile iron T: -20/+120°C g
o valve DA actuator emergency
double action spring return gearbox type
VA 63-100 VA 85-100 ILGD200
DN 40-150 VA 115-140 VA 115-160 ILGD600
VA 180-200 ILGD900
VA 115-140 ILGD600
VA 160-200 VA 160-200 ILGD900
DN 200-300
VA 230 VA 230 ILGD1500
VA 270 ILGD2400
VA 200-230 ILGD1500
DN 350
VA 270 VA 270-330 ILGD2400
VA 200-230 ILGD1500
DN 400 VA 270 ILGD2400
VA 330 VA 330 ILGD5000
VA 270 ILGD2400
DN 500
VA 330 TBD ILGD5000
DN 600 VA 330-AT1001 TBD ILGD5000

Ver. 2413 subject to change

213




Actuators Butterfly Valves ) @HSE@

| Waterproof valve shaft extension

When necessary, it's possible to extend the valve shaft as
indicated in the figure. Construction is in carbon steel with
protective paint (on request stainless steel).

. _NoTE | -
"L" measure
should be indicated

when ordering.

Our tecnical department
is available to solve
special applications.

Hydraulic actuator

e Tecnical features: o fluid type: e working pressure: 10 - 120
» ductile iron cast body » hydraulic oil type : HPL bar
» steel rack and pinion DIN51524-2 / ISO 6743-4. e working temperature: -20°C /
» NBR seats Viscosity 15/200 cst +80°C

Fluid: H20 - T: 20° C - Seat: RTFE
Oil pressure: 60Bar Oil pressure: 120Bar

PN 10 PN 10

40 | H28DA H40SRA H28DA | H40SRA H28DA H40SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
50 H28DA H40SRA H28DA H40SRA H28DA H40SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
65 | H28DA H40SRA H28DA H40SRA H28DA H40SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
80 H28DA H40SRA H28DA H40SRA H28DA H40SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
100 H28DA H40SRA H28DA H40SRA H28DA H50SRA  H28DA H40SRB H28DA H40SRB H28DA H40SRB
125 H28DA H50SRA H40DA H50SRA H40DA H50SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
150 H40DA H50SRA H40DA H63SRA  H50DA  H63SRA  H28DA H40SRB  H28DA H50SRB H40DA H50SRB
200 HS50DA H63SRA HS50DA HB3SRA H63DA H80SRA H40DA HS50SRB H40DA H50SRB H50DA H63SRB

250 H50DA HB80SRA H63DA H80SRA H63DA - H50DA | H63SRB H50DA H63SRB  H50DA | H80SRB
300 H63DA - H63DA - H80DA - H50DA H80SRB H50DA HB80SRB H63DA HB80SRB
350 H80DA - H80DA - - - H63DA HB80SRB ' H63DA - H80DA -
400 H8ODA - - - - - H80DA H80SRB H80DA - H80DA -
500 - - - - - - H80DA - H80DA - - -
R S S R

Fluid: H20 - T: 20° C - Seat: INCONEL

Oil pressure: 60Bar Oil pressure: 120Bar
PN 16 PN 20 / PN 25 PN 16 PN 20 / PN 25
DA DA
40 H28DA H40SRA H28DA H40SRA H28DA H40SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
50 H28DA H40SRA H28DA H40SRA H28DA H40SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
65 H28DA H40SRA H28DA H40SRA H28DA H50SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
80 H28DA H40SRA H28DA H40SRA H40DA H50SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB

100 H28DA H40SRA H28DA H50SRA H40DA H50SRA H28DA H40SRB H28DA H40SRB H28DA H40SRB
125 H40DA H50SRA H40DA H63SRA H40DA H63SRA H28DA H40SRB H28DA H50SRB H28DA H50SRB
150 HS50DA H63SRA H50DA H63SRA H50DA HB80SRA H40DA H50SRB H40DA H50SRB H40DA H63SRB

200 H50DA  H80OSRA  H50DA  HBOSRA  H63DA - H40DA  HS50SRB  H50DA  H63SRB  HS0DA  HBOSRB
250 H63DA - H63DA - H80DA - H50DA ~ H63SRB ~ HS0DA =~ HBOSRB = H63DA  H8OSRB
300 HS8ODA - HSODA - - - H63DA  H8OSRB  H63DA - H63DA -
350 HSODA - - - - - H63DA - H63DA - H8ODA -
400 - - - - - - H8ODA - H80DA - - -
500 - - - - - - - - - - - -
600 - - - - - - - - - - - -

214 Ver. 2413 subject to change



Our agencies

Germany + Switzerland
MARTIN LOHSE GmbH
Unteres Paradies 63
89522 Heidenheim
Phone: +49 7321 755-0
sales@lohse-gmbh.de
www.lohse-gmbh.de

Australia, New Zealand, Indonesia,
Singapore, Malaysia

P.T. VOITH PAPER

JI. Permata V Lot EE - 1

Kawasan Industri KIIC

Karawang 41361, INDONESIA
Phone : +62 267 419 719

Fax : +62 267 419 717

n rance, MA, TN, DZ
) ., N.P.
0 Boussegré

Peter
Handel
3100 St.
Phone:

Austria
Klinger Gebetsroith
Co KG

Am Kanal 8-10

2352 Gumpoldskirchen
Phone: +43 2252 60 71 00
Fax: +43 2252 60 71 00 3010
gerhard.praxmarer@gebets
at

www.gebetsroither.at

Belgium

Hanwel Belgium N.V.
Winninglaan 15

9140 Temse

Phone: +32 3 7110353
Fax: + 32 3 7110579
info@hanwel.be
www.hanwel.be

Chile

INTERTECH

Prat 116, Of 31
Curico, Chile

phone +56.075.322033
www.inter-tech.cl
n.flores@inter-tech.cl

People’s Rep. Of China

Shanghai Fier Mechanical Co. LTD
Room B4, 15/F HuaFu Bldg.

No. 585 LongHua xi Rd.

ShangHai, China 200232

Phone: +86 21 54591038

Fax: +86 21 54240616

MP: 13611665381

shfier@163.com

www.fier.com.cn

Ver. 2428

Denmark

Uni-Valve A/S
Sydvestvej 138 — 140
2600 Glostrup
Phone: +45 43 438200
Fax: +45 43 437475
mail@uni-valve.com
www.uni-valve.com

Japan

Voith IHI Paper Technology Co.Ltd.
River City M-SQUARE 7F

2-1-6 Tsukuda, Chuo-ku

1040051 Tokyo

Phone: +81 3 6221 3108

Fax: +81 3 6221 3126

Korea
Finland C.S-Automation Co., Ltd. (Custo-
KLINGER Finland Oy mer Satisfaction Automation)
Tinankuja 3 #804 Sejung Technovalley
02430 Masala 279-5 Songjeong-Dong

Phone: +358 10 4001011
info@klinger.fi
www.klinger.fi

Heungdeok-Gu
Cheongju-Si

South Korea. 361-290
Phone: +82 43 276 1332
Fax: +82 43 278 1332
changs

58140 Lormes

Phone: +33 1559711-11
Fax: +33 148835207
contact@tnp.fr
www.tnp.fr

Great Britain
Voith Turbo Ltd.
6 Beddington Far
Croydon, Surrey C
ne: +44 208 6673
: +44 208 6670403
aly@voith.com

opoulos, BSc.

Str. 28

23 Nea Smyrni-Athens
one: +30 6 98 305 10 70
n.mikopoulos@nm-bc.com R. Dan and Co., Inc.
Lot 6-9 Block 5 Greenway Business
Park

Bulihan, Silang,

Cavite Philippines 4118

Phone: +63 960 690 0244
ester.poe@robertdan.com.ph
www.robertdan.com.ph

India

Antrieb Technik Private Limited
59 (old 359) Sidco Industrial Estate
Ambattur

Chennai-600 098

Tamilnadu / INDIA

Phone: +91 44 262-58303

Fax: +91 44 2819-3718
antrieb.technik@gmail.com

Poland
Waldemar Kulicki
ul. Heweliusza 37/4

Israel 87-148 Papowo Torufiskie
P.B.A Wiesner Agencies Ltd. Phone: +48 509 46 64 25
P. O. Box 4622 waldemar-kulicki@wp.pl

Petach-Tikva 49277
Phone: +972 3 9052111
Fax: +972 3 9052110

www.wkulicki.eu

Rep. of South Africa

ofra@pba.co.il Voith Turbo (Pty) Ltd
P.O. Box 13171
Italy Witfield, 1467
Techno Paper S.R.L. Gauteng, SOUTH AFRICA
Viale Certosa 269 Phone: +27 11 418 4000

Fax: +27 11 418 4080
info.vtza@voith.com
www.rsa.voithturbo.com

20151 Milano (MI)
Phone: +39 02 78627750
Fax: +39 02 45471638
info@techno-paper.com
www.techno-paper.com

IoHSE

Spain, Portugal

CELPAP EQUIPOS, S.L.
C/Amposta, 14-18

08174 Sant Cugat del Vallés
(Barcelona)

Phone +34 93 415 18 75
celpap@celpap.com
www.celpap.com

Sweden

PA-Ventiler AB
Sagbécksvagen 3B
43736 Lindome
Phone: +46 31 992500
Fax: +46 31 992503
info@paventiler.se
www.paventiler.se

162 5448090
dampfexperte.ch
pfexperte.ch

hen Engineering Co., Ltd.
No. 151, Sec. 4,
sin-Yi Road,

ip iwan, R.O.C.
886 22

85
Fax#+886 22 70459*
echen123@ms15.hinet.net
Thailand
Weston
8 Soi Se
Seri-Thai
10510 Minburi Ban
Phone: +66 2 3745869"
Fax: +66 2 375-1179
comml1@westonmyer.com

¢
/

Turkey

Sanrep Kagit San. ve Tic. Ltd. Sti.
Altiyol, Kusdili Caddesi No:19/7
H.Fazlioglu is Merkezi

34714 Kadikéy — ISTANBUL
Phone: +90 216 345 40 48

Fax: +90 216 330 73 12
sanrep@sanrep.com
www.sanrep.com

USA, Canada, Mexico

Voith Paper Inc.

2200 N. Roemer Rd.
Appleton, W1 54912-2237
Phone: +1 920 - 358 - 2396
Fax: +1 920 - 731 -5126
VPAWSpareParts@voith.com





